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Question 2

(25 points) A firm is looking to produce a total quantity equal to Y in the cheapest possible way. The
firm has two plants. The cost of producing y; units in plant 1 is 2,/y;. The cost of producing y; units in
plant 2 is 4,/y;. The firm wants to determine the best way to divide total production Y into y, and y, and

how much that costs.
A Write down the formal problem that the firm solves. (5 points)
B Does a solution to the problem exist? Explain. (5 points.)
C Solve the problem for all possible values of Y. (10 points.)

D How much does the cost of the firm increase with a marginal increase in Y, taking into account the
optimal division into y; and y,? Explain. (5 points.)
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